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NH4NO3(s) + 26K] —)> NH4+(aq) + NO3 (aq)

of
CaCl,(s) —> Ca?*(aq) + 2Cl-(aq) + 83K]
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1molCacCl, 83K]
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Q(KJ)? = 2.22gCaCl, x Ti1gCacl, * TmolCaCi, 1.66K]
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1) Hy(g) + +fs) — 2HI(g) | AH=+53KJ
2) 1(9) — 4A5) AH=- 62.5KJ
H(g) + 12(g) — 2HI(g) AH?KJ

AH (iiS15) = AH; #AH, =53 - 62.5 =- 9.5 KJ
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AH, =[4AH(C-H) + AH(C = C) + AH(H-H)]-[ 6AH(C-H) + AH(C - C)]

AH, = (4x415+614+436) - (6x415+348) = 2710 — 2838 = - 128 KJ
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1)  CiH4(g) +302(g) — 2COx(g) + 2H,0(g) AH,=- 1410KJ
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2) CHe(g) + 502(9) — 2€0,(g) + 3H,0(g) AH; = —1560K]
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